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FINAL TEST OPEN BOOK NO LAP-TOP (100 menit)
Name: (A Rabh s A Student ID#: (7507487

You do not need any extra paper, write down all your answers right here | Use the back page if necessary.

1. Why should we learn about ICT (70 points):
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3. List 6 (six) examples of the teaching Format (5 poin
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4. List 6 (six) aspects to support the teaching skills (5 points):

Experience 2ho%0709

5. In oqetc;f your group assigments, your group has made a visit to an ICT Ffacility for education (70
points):

(a) Name the ICT facility your group has visited:
b) List 2 (two) examples of hardware, software and humanware aspects at the ICT Facili

hardware aspects software aspects Humanware aspects
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6. Your group has interviewed a practicing teacher to make an assessment on her/his mastery in ICT

and how he/she uses the JCT to support his/her job (70 points):
(a) The teacher’'s name: 2”‘“" dﬁf 4'-‘2‘191 - place of work: i saudiud f)"'”*"

(b) His/her mastery of ICT is (circle only one answer):
* Extra Ordinary @ * Not Quite Good
(c) Explanation of 6(b):
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7. A society where the majority of its population earn their living as information workers is called an

(B 1A P4 society (5 points). What do Information workers do for living? (70
points) Answer. They Processrg  Prdatrg  and ot Pk o
Ve e'ﬁf-_a)" “"dﬁlﬂn _

Examples of information workers are (give three more): Teachers, Youd s  Lr9giners
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8. There are 3 (three) levels of Information Systems, from the lowest to the highest (70 points):
1. P anial - based Information Systems
2. Qe - based Information Systems, and
3. Nf VY - based Information Systems

8. What mode of communication did Shannon and Weaver's model of communication
originally represent? Answer: Jimp £ mode. 2 (two) other modes of

communication derived from the same model are: (a) Fll  dop o
and (b) o (10 points)

S. Ihu%augsc_un_ﬁ % information is 1 b7 stands for (an abrreviation of)
/nopy  Hgit ? (5 points)

: . 1_ ry page is about 500 words in average, how
many bits of information are there contained in a 250-page book? (5 poinb).

(b) How many books about the same size as described in 1 1(3) can Fill up an 8 GB Flash Disk? 1
B(yte) = 10 b(its), so 8 GB = 80 Gb)(5 poinb. ash Disk? (Note:
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